GROSS ANATOMY EXAM 2 2007
1. Failure of the lateral palatine processes to properly fuse in the midline during embryonic development would produce a newborn with a:

A. Cleft jaw. 

B. Posterior cleft palate.
C. Cleft lip.
D. Anterior cleft palate.
2. All of the following develop from the merged medial nasal processes EXCEPT the…


A.
Philtrum of upper lip.

B.
Crest of nose.

C.
Tip of nose.

D.
Alae of nose.
3. Failure of proper neural crest cell migration into the first three pharyngeal arches during development could lead to congenital malformation of all of the following EXCEPT the…

A.
Thyroid cartilage.
B.
Maxilla.
C.
Mandible.
D.
Styloid process.
4. Which of the following congenital malformations are NOT typically found in the midline of the neck?

A.
Branchial fistulas.
B.
Aberrant thyroid tissue.
C.
Thyroglossal cysts.
D.
Thyroglossal fistulas.
5. An infection in which of the following would NOT first drain into the submandibular lymph nodes?

A.
Corner of the mouth.
B.
Lateral portion of anterior 2/3 of tongue.
C.
Mandibular teeth.
D.
Maxillary teeth.
6. Which of the following lymph nodes would become enlarged first if the tip of the tongue was infected?


A.
Submental.

B.
Retropharyngeal.

C.
Deep cervical.

D.
Submandibular.
7. To  anesthetize all of the maxillary teeth between the medial incisor and 2nd premolar along with their associated lingual and buccal gingivae, all of the following block injections would be required EXCEPT a…

A.
Infraorbital nerve block.
B.
Greater palatine nerve block.
C.
Posterior superior alveolar nerve block.
D.
Nasopalatine nerve block.
8. Which of the following block injections would have to be utilized to anesthetize the buccal gingiva of the mandibular molars?


A.
Inferior alveolar nerve block.

B.
Lingual nerve block.

C.
Mental nerve block.

D.
Long buccal nerve block.
9. A tumor in the left foramen ovale could produce which of the following neurological findings?

A.
Uvula deviates to right side when patient says ahh.

B.
Chin deviates to left when jaw is opened.
C.
Hyperacusis.
D.
All of the above.
10. Medial displacement of the palatine tonsil can be caused by a space taking lesion (tumor or infection) in the adjacent…


A.
Sublingual fascial space.


B.
Parapharyngeal fascial space.


C.
Retropharyngeal fascial space.


D.
Submandibular fascial space.

11. If the maxillary artery was suddenly occluded near its origin, which of the following areas would NOT immediately experience a significant reduction its blood supply?

A.
Muscles of facial expression.
B.
Cranial dura.
C.
Nasal cavity.
D.
Muscles of mastication.
12. When you ask your patient to protrude her tongue straight out of their mouth you noted that it deviated toward the right. You should be concerned that she may have a lesion in her…

A.
Left glossopharyngeal nerve.

B.
Left hypoglossal nerve.

C.
Right glossopharyngeal nerve.

D.
Right hypoglossal nerve.

13. Lingual erosion of a periapical abscess of a mandibular 2nd molar tooth would cause the infection to first enter the…


A.
Masticator space.

B.
Sublingual space.

C.
Submandibular space.

D.
Parapharyngeal space.
14. Which of the following does NOT describe the correct path of the needle when performing a standard inferior alveolar block injection?


A.
Medial to ramus of mandible.

B.
Lateral to medial pterygoid muscle.

C.
Medial to pterygomandibular raphe. 


D.
Lateral to lingual nerve.
15. Which of the following fascial spaces does not directly communicate with the others at the confluence of fascial spaces?


A.
Retropharyngeal space.

B.
Parapharyngeal space.

C.
Sublingual space.

D.
Submandibular space.
16. Which of the following muscles does NOT participate in jaw protrusion?


A.
Masseter.

B.
Medial pterygoid.

C.
Lateral pterygoid.

D.
Temporalis.
17. In a patient whose mandible is in a open-lock position the…


A.
Condyle and articular disc are trapped anterior to the articular eminence.


B.
Articular disc is trapped in the mandibular fossa.


C.
Condyle is trapped in the mandibular fossa.


D.
Condyle articulates with the anterior band of the articular disc.

18. Which of the following structures is not in the carotid sheath?

A. Vertebral artery

B. Common Carotid artery

C. Internal jugular vein

D. Vagus nerve

19. The right recurrent laryngeal nerve loops around the:

A. Brachiocephalic artery

B. Brachiocephalic vein.

C. Axillary artery

D. Subclavian artery. 

20. Which of the following is not a branch of the external carotid artery?

A. Lingual artery

B. Facial artery

C. Vertebral artery

D. Superior thyroid artery
21. The structure that does not open into the middle meatus is the:
A. Nasolacrimal duct.  

B. Frontal sinus.

C. Maxillary sinus

D. Middle ethmoidal air cells.

22. Which of the relationships below is incorrect?
A. The superior wall of the maxilla is related to the orbit.

B. The inferior wall of the maxilla is related to the maxillary teeth.

C. The posterior wall of the maxilla is related to the infratemporal fossa.

D. The lateral wall of the maxilla is related to the temporalis muscle. 

23. The posterior superior alveolar nerves innervate the:
A. Maxillary molars 

B. Maxillary premolars.

C. Maxillary canines.

D. Maxillary incisors.

24. The infraorbital nerve is a branch of the:
A. Opthalmic division of the trigeminal nerve.

B. Mandibular division of the trigeminal nerve.

C. Maxillary division of the trigeminal nerve. 

D. Buccal division of the facial nerve.

25. The lacrimal gland and the glands of the nasal cavity receive parasympathetic secretomotor innervation from the:
A. Otic ganglion.

B. Pterygopalatine ganglion. 

C. Ciliary ganglion.

D. Submandibular ganglion.

26. All the muscles of the tongue are innervated by the hypoglossal nerve except the:
A. Genioglossus.

B. Styloglossus.

C. Palatoglossus.  

D. Hyoglossus.

27.  If the lingual nerve is severed during a third molar extraction what sensory modalities would be impaired?
A. Taste and sensory information from the anterior 2/3 of the tongue.  

B. Taste and sensory information from the posterior 1/3 of the tongue.

C. Taste from the anterior 2/3 of the tongue and sensory information from the posterior 1/3 of the tongue.

D. Sensory information from the anterior 2/3 of the tongue and taste from the posterior 1/3 of the tongue.

28. All the muscles of the pharynx are innervated by the pharyngeal branches of the vagus except the:
A. Stylopharyngeus.  

B. Palatopharyngeus.

C. Superior pharyngeal constrictor.

D. Middle pharyngeal constrictor.

29.  The twelfth cranial  nerve exits the skull via the:
A. Foramen magnum.

B. Hypoglossal canal.  

C. Jugular foramen.

D. Internal acoustic meatus.

30.   The afferent limb of the gag reflex is via cranial nerve:
A. Trigeminal.

B. Facial.

C. Glossopharyngeal.  

D. Vagus.

31.   All the muscles of the larynx are innervated by the recurrent branch of the vagus except the:
A. Cricothyroid.   

B. Posterior cricoarytenoids.

C. Lateral cricoarytenoids

D. Thyroarytenoid.

32. Which of the laryngeal muscles abducts the vocal cords?
A. Cricothyroid.   

B. Posterior cricoarytenoids. 

C. Lateral cricoarytenoids

D. Thyroarytenoid.
33. The supraglottic portion of the larynx has its sensory information carried to the CNS via the:
A. Glossopharyngeal nerve.

B. Internal  branch of the superior laryngeal nerve. 

C. External branch of the superior laryngeal nerve.

D. Recurrent laryngeal nerve.

34.  Which of the following statements about the autonomic nervous system (ANS) is INCORRECT?
A. In its peripheral distribution, there are always 2 neurons between CNS and target structure.

B. Sympathetic preganglionic nerve fibers tend to be relatively short. 

C. As they leave the brain stem, parasympathetic nerve fibers are carried in cranial nerves V, VII, IX, & X.    
D. The terminal neurotransmitter in the sympathetic system is norepinephrine.

35. An infection of the middle ear cavity that spreads laterally could affect which of the following structures:
A. Auditory tube.
B. Internal carotid artery and periarterial sympathetic plexus of nerves.
C. Chorda tympani nerve.
D. Tensor tympani muscle.  

36. An inflammation in the descending part of the facial canal could directly affect the function of which of the following glands?
A. Sweat glands on the lower face.
B. Parotid gland.
C. Sublingual gland. 

D. Lacrimal gland.

37. Your patient presents with a droopy upper eyelid and a fixed dilated pupil.  Which structure is most likely lesioned?
A. Sympathetics on the ophthalmic artery.
B. CN III (oculomotor nerve). 

C. Ciliary ganglion.
D. Pterygopalatine ganglion.
38. Your patient presents with an absent corneal blink reflex.  What structure is most likely lesioned?
A. Nasociliary nerve.
B. Lacrimal nerve.
C. Sympathetics on the ophthalmic artery.
D. Frontal nerve.

39. Which of the following statements about the cavernous sinus is INCORRECT?
A. Blood can leave the cavernous sinus via petrosal sinuses.

B. The ophthalmic nerve is found in the lateral wall of the cavernous sinus.

C. The superior ophthalmic vein drains the orbit and terminates in the cavernous sinus.

D. The sigmoid sinus communicates directly with the cavernous sinus.  

40. Following a middle ear infection, your patient complains that his MP3 player is exceptionally loud and his face sags some on the right side (downturned lower lip and eyelids).  What structure is probably lesioned?
A. Right mandibular division of the trigeninal nerve.
B. Right facial nerve, just distal to the genu, in the facial canal. 

C. Right facial nerve just distal to the sylomastoid foramen.
D. Right vestibulocochlear nerve distal to the internal acoustic meatus

41. The function of which of the following muscles could be affected by parotid gland disease?
A. Anterior belly of the digastric.
B. Buccinator.  

C. Geniohyoid.
D. Masseter.
42.    Which of the following is the CORRECT secretomotor ANS pathway to the  parotid gland?
A. Greater petrosal nerve – pterygopalatine ganglion – parotid gland.  

B. Lesser pertosal nerve – otic ganglion – parotid gland.  

C. Chorda tympani nerve – submandibular ganglion – parotid gland.
D. Periarterial sympathetic plexus – otic ganglion – parotid gland.
43.   Which of the following dural venous sinuses meet directly at the confluence of sinuses?
A. Sigmoid, superior petrosal, & transverse.
B. Transverse, superior sagittal, & straight.  

C. Inferior sagittal, transverse, & superior sagittal.
D. Occipital, superior sagittal, & sigmoid.

44.   The middle cerebral artery is a branch of the ….. artery.
A. Anterior cerebral.
B. Internal carotid.  

C. Posterior cerebral.
D. Basilar.
45.   Which of the following cranial nerves has functions that include taste, sensation, parasympathetic innervation, and innervates only one skeletal muscle?
A. Facial.
B. Trigeminal.
C. Glossopharyngeal.  

D. Vagus.
46.   Which of the following bones contributes to both the anterior and middle cranial fossae?
A. Parietal.
B. Temporal.
C. Frontal.
D. Sphenoid.  

47.   Your patient complains of considerable pain related to a middle ear infection. Which cranial nerve is involved in the transmission of the pain sensation?
A. V3. 

B. IX.   

C. VII. 

D. VIII. 

48.   Which of the following statements about the orbit is INCORRECT?
A. The lacrimal nerve is secretomotor to the lacrimal gland.   

B. The oblique muscles abduct the eyeball.

C. When testing the elevation/depression functions of extraocular muscles, the rectus muscles are tested in the abducted position.

D. Parasympathetics in the orbit innervate the sphincter pupillae muscle.

49.   Your patient complains that he is unable to play and sustain high notes on his oboe because he can’t keep his cheek tensed and tight.  What nerves might be involved?
A. Long buccal of V3.
B. Infraorbital of V2.
C. Buccal branches of facial.  

D. Mental of V3.
50.   Which of the following statements about the ANS is INCORRECT?
A. Preganglionic sympathetic nerve cell bodies are found between spinal cord levels T1 – L2 only.

B. Preganglionic sympathetics nerve fibers enter the sympathetic chain via gray communicating rami.  

C. Synapses between pre- and postganglionic sympathetic nerve fibers destined for the head occur in the superior cervical ganglion.

D. Postganglionic sympathetic nerve fibers enter the head as a periarterial nerve plexus.  
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